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CTET-1 CDP Memory Based Questions Q10. A child finds difficulty in making omissions,
reversals, and substitution while reading
Q1. Considering Piaget’s cognitive development text is an indication of-
theory, accommodation can best be Ans: Dyslexia
described as-
Ans: Accommodation can best be described | Q11. Carol Gilligan is related to which
as bringing the required adjustments to the development?
new ways of behaving and thinking by Ans: Moral development
modifying present cognitive structures.
12. The direct method of adjustment
Q2. The stage in which a child begins to think Q Ans: Removing hurdles]
logically about objects and events is known '
ans Concrete operational stage Q13. A period of disorientation and discovery-
' P & Ans: Adolescence
3. Vygots roposed that child development
Q is}-,g ky prop P Q14. The knowledge of more languages than a
Ans: A product of social interaction native language is-
Ans: Multilingualism
Q4. According to Kohlberg, the thinking process
involved in judgments about questions of
right and wrong is called- CTET-1 English Memory Based Question
Ans: Moral reasoning
Q1. The purpose and function of any remedial
Q5. The theory proposed by Howard gardener work is to-
is- - _ Ans: The purpose and function of remedial
Ans: Theory of multiple intelligence work is to assist academically poor students
to keep pace with classroom teaching.
Q6. According to NEP 2020, a child of the age of
5 years lies in - Q2. According to NCF 2005,
Ans: Foundation stage 'Designing good test items and questions is
,and teach hould d ti
Q7. The primary agency of socialization in a an —— ,ana teaciers should Spenc 1m(?
child’s life- thinking about and devising such questions
Ans: Family Ans: Art
Q8. Inaprogressive education- Q3. Who said that classificati?)n was also
Ans: Ample opportunities are provided for important to learn a language?
the construction of knowledge Ans: Jean Piaget
Q9. NCF 2005 talks of major shifts from- Q4. The kinds of stress, during pronunciation,
Ans: Knowledge is given and fixed as it includes
evolves and is created Ans: Word stress, Sentence stress
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Q5.

Qé.

Q7.

Q8.

Qo.

Q10.

Q11.

Q12.

Q13.

Q14.

Q15.

Q16.

Q17.

Q18.

Pronunciation and grammar are crucial in
Ans: The direct method oflanguage teaching

English, in India, is mainly taught as a
Ans: Second language

In the context of the world, English is a
language.
Ans: Global

CLL stands for-
Ans: Community language learning

In the multilingual classroom, learners can
interact

Ans: in their own language and can be a mix
of words from more than one language.

This reading involves learners reading texts
for enjoyment and to develop general
reading skills

Ans: Extensive

Which stage of Krashen’s theory suggests
learners acquire language by taking in and
understanding a language that is "just
beyond" their current level of competence?

Ans: Comprehensible input

Who states that constructivism can build
individual and social knowledge?

Ans: John Dewey

Who mandated CCE as a process of
assessment?
Ans: RTE

Language 1 passage-
Ans: Topic- Ruskin bond

Language 2 passage-
Ans: Topic- Taj Mahal

Language 1 poem-
Ans: Topic- Nature

Which of the following is the base of
remedial teaching?
Ans: Diagnostic test

Remedial teaching is not-
Ans: Given after the diagnostic test

Q19.

Q20.

Q21.

Q22.

Q23.

Q24.

Q25.

Q26.

Q27.

Q28.

Multilingualism is-

Ans: Starting with the mother tongue or
home language and moving on to add more
languages in school

Multilingualism means-
Ans: Polyglots

Extensive reading is aimed at-
Ans: Reading for pleasure

NCF 2005 emphasizes that-

Ans: Social economic and ethnic
backgrounds are important for enabling
children to construct their own language
AND the mother tongue is also a critical tool
for enabling children to construct their own
language

What is the status of English in India?
Ans: Associate official language

Which of the following is not true about the
status of the English language across the
world?

Ans: English as a heritage language

Ms Renu in her class 5th tells the story in
English and asks her students to tell the
story in their language. She then asks them
to tell the story in groups of 5 by taking
turns. What strategy did she follow in her
classroom?

Ans: Translanguaging

Stephen Krashen's theory of second
language acquisition does not consist of-
Ans: The learnability hypothesis

Choose the correctly matched pair of
Piagetian cognitive stages and their defining
characteristic

Ans: Preoperational
thought

stage- egocentric

Which of the following reforms was
included in NEP 20207

Ans: Equitable and inclusive education,
ensuring universal access at all levels, new
curricular and pedagogical structure
(5+3+3+4)
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Q29. While teaching pronunciation a teacher uses
the following set of words. What is this
known as?

Bad-pad, bit-pit, big-pig, bull-pull, bye-pie
Ans: Contrastive pairs

Q30. In order to know the correct pronunciation
of English words the learner should
Ans: Knowing the spelling, meaning and
how they are pronounced

Q31. Progressive education is focused on

Ans: Active learning

CTET-1 Mathematics Memory Based
Question

Q1. Theangles ofatriangle are in the ratio 3:5:7,
find the shortest angle?
Ans: 36°

Q2. Find the sum of 50 natural numbers
Ans: 1257

Q3. Which one of the following represents the
number ‘Fifty- five lakh five thousand five
hundred fifty- five?

Ans: 5555555

Q4. A teacher asked to write a student 6
thousand 5 hundred, the student writes it
wrongly problem faced by the students-
Ans: Place value problem

Q5. Ina100rupees note, Anil made 4 squares of
2cm in four corners, how many squares can
be made in three 100 rupee notes
Ans: 12

Q6. What is the correct sequence a teacher of
class Il needs to follow to explain the
concept of ‘Quarter’ to the students -

1. Write the symbol of Quarter on the
blackboard

2. Provide concrete material and divides
into Quarters

3. Show pictures representing ‘Quarter’

Ans: 2,31

Q7.

Q8.

Qo.

Q10.

If the side of a Square is halved, the
perimeter of the square so obtained will be
........... and the area will be ........-

Ans: Half, One fourth

A train travel120km in 2.5hrs, how much
time is required to cover 80km with same
speed-

Ans: 1 hr 40 min

If each of the three non zero numbers a, b, ¢
is divisible by 3, then abc must be divisible
by which one of the following the numbers-
Ans: 27

Find LCM of 12, 15, 27
Ans: 540

CTET-1 EVS Memory Based Question

Q1.

Q2.

Q3.

Q4.

Math the following:
National Park

A.Jim Corbett

B. Kaziranga National Park
C. Ranthambore National Park
D. Gir National Park

State

1. Assam

2. Gujrat

3. Uttarakhand

4. Rajasthan
Ans:A-3,B-1,C-4,D-2

Which of the following insects does not live
together in a colony like a honeybee?
Ans: Spider

How many hours does an elephant sleep?
Ans: In zoos an Elephants sleeps for 4 to 6
hours but in their natural surroundings the
elephant rested for only 2 to 3 hours.

Which of the following is not a fruit?
(a) mango

(b) litchi

(c) grapes

(d) radish

Ans: Radish
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Q5.

Q6.

Q7.

Q8.

Qo.

Q10.

Which bird is blue from neck to tail?
Ans: Peacock

what kind of houses should the
villagers/people living in the regions with
heavy rains (Such as Assam) make?

Ans: Houses on stilts (Bamboo pillars) with
sloping roofs

The animal, which can move its ears in
different directions which helps him to catch
the sounds from all directions, is -

Ans: Tiger

Q61. Kuduk is the spoken language of the
people of -
Ans: Jharkhand

The best period for the people of Bihar to
start bee-keeping (litchi) is
Ans: October - December

Which one of the following animals looks
like a bear but is not? This animal spends 17
hours a day sleeping while hanging upside
down on a tree branch and eats the leaves of
the same tree. The average life of this animal

Q11.

Q12.

Q13.

Q14.

is almost 40 years and in their time it moves
around only eight trees
Ans: Sloth

Which of the following animal's front teeth
keep growing throughout its life?
Ans: Squirrel

Identify the most suitable characteristic(s)
from the given options about the honeybee
(A) Only the queen bee lays the eggs

(B) The male bees have no special role as a
worker

(C) All-female bees lay the eggs

(D) Worker bees look for food and bring it to
the bee hive

Ans: A,Band D

Desert Qak is a tree that is found in
Ans: Australia

Chilies are one of the most important spices
used almost in every part of our country.
This spice was brought into our country by
traders coming from -

Ans: South America
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